Multiplication et Division par 10 (])

Trouvez chaque produit ou quotient.

3,139 X 10 = 6,953 ~ 10 =
7,3613 x 10 = 1,62 X 10 =
2,06 X 10 = 7,3111 - 10 =
2,0281 + 10 = 2,2+10=
6,037 +~ 10 = 3,6 10 =
3,656 X 10 = 5,639 ~10 =
8,368 x 10 = 8,4408 x 10 =
8,33 x 10 = 2,9 x10=
7,4247 x 10 = 57+10=
56X 10 = 56x%x10=
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Multiplication et Division par 10 (J) Solutions

Trouvez chaque produit ou quotient.

3,139 x 10 = 31,39 6,953 +- 10 = 0,6953
7,3613 x 10 = 73,613 1,62 X 10 = 16,2
2,06 x 10 = 20,6 7,3111 +-10=0,73111
2,0281 +10=10,20281 2,2+-10=0,22

6,037 +~10=0,6037 3,6 +-10=0,36

3,656 X 10 = 36,56 5,639 +-10=0,5639
8,368 x 10 = 83,68 8,4408 x 10 = 84,408
8,33 x 10 =83,3 2,9 x10=29

7,4247 X 10 = 74,247 57+10=0,57

56 x10=56 56x10=56
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